Name: _______________________________________________					Hour: ________
Do You Have Too Many Crickets – A Population Density Problem
[image: ]
Answer Question #1 on these lines: (Remember there are 3 parts to this question!) ________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Answer Question #2 on these lines: (Remember there are 2 parts to this question!) ______________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________________
Scoring:
	
	Proficient…….Nearing Proficient…….…Progressing………….…Below Average…………..…Little / No Attempt

	Understanding of Population Density (#1)
	4
	3.5
	3
	2.5
	2
	1.5
	1
	0.5
	0

	Understanding of Effects of Pop. Dens. (#1)
	[bookmark: _GoBack]4
	3.5
	3
	2.5
	2
	1.5
	1
	0.5
	0

	Application of Nat. vs. Man-made (#2)
	4
	3.5
	3
	2.5
	2
	1.5
	1
	0.5
	0
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